

# SOME IDENTITIES INVOLVING GENOCCHI POLYNOMIALS AND NUMBERS

DAE SAN KIM AND TAEKYUN KIM

**ABSTRACT.** In this paper, we derive some identities involving Genocchi polynomials and numbers. These identities follow by evaluating a certain integral in various ways. Also, we express the product of two Genocchi polynomials as a linear combination of Bernoulli polynomials.

## 1. INTRODUCTION

The Genocchi polynomials are defined by the generating function to be

$$(1.1) \quad \frac{2t}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!}, \quad (\text{see [1-10]})$$

When  $x = 0$ ,  $G_n = G_n(0)$  are called the Genocchi numbers. From (1.1), we note that

$$(1.2) \quad \begin{aligned} \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!} &= \left( \frac{2t}{e^t + 1} \right) e^{xt} = \left( \sum_{l=0}^{\infty} G_l \frac{t^l}{l!} \right) \left( \sum_{m=0}^{\infty} \frac{x^m}{m!} t^m \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{l=0}^n \binom{n}{l} G_l x^{n-l} \right) \frac{t^n}{n!}. \end{aligned}$$

Thus, by comparing the coefficients on both sides of (1.2), we get

$$(1.3) \quad G_n(x) = \sum_{l=0}^n \binom{n}{l} G_l x^{n-l}.$$

From (1.1), we can also derive the following recurrence relation related to Genocchi numbers:

$$(1.4) \quad G_0 = 0, \quad (G + 1)^n + G_n = G_n(1) + G_n = 2\delta_{1,n} \quad (n \geq 1),$$

with the usual convention about replacing  $G^n$  by  $G_n$ . The first few of them are  $0, 1, -1, 0, \dots$ , and  $G_{2k+1} = 0$ , for  $k = 1, 2, 3, \dots$ . It is well known that the Bernoulli polynomials are given by the generating function to be

$$(1.5) \quad \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (\text{see [4, 12]}).$$

When  $x = 0$ ,  $B_n = B_n(0)$  are called the Bernoulli numbers. By (1.1) and (1.5), we easily get

$$(1.6) \quad \sum_{n=0}^{\infty} G_n \frac{t^n}{n!} = \frac{2t}{e^{2t} - 1} e^t - \frac{2t}{e^{2t} - 1} \\ = \sum_{n=0}^{\infty} 2^n \left( B_n \left( \frac{1}{2} \right) - B_n \right) \frac{t^n}{n!}.$$

Thus, by (1.6), we have

$$G_n = 2^n \left( B_n \left( \frac{1}{2} \right) - B_n \right) = 2(1 - 2^n) B_n, \quad (n \geq 0).$$

From (1.1), we can derive the following equation:

$$(1.7) \quad \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!} = -\frac{-2t}{e^{-t} + 1} e^{-(1-x)t} \\ = \sum_{n=0}^{\infty} (-1)^{n-1} G_n(1-x) \frac{t^n}{n!}.$$

Thus, by comparing the coefficients on both sides of (1.8),

$$(1.8) \quad G_n(x) = (-1)^{n-1} G_n(1-x), \quad (n \geq 0).$$

By (1.3), we see that

$$(1.9) \quad \frac{d}{dx} G_n(x) = n(G+x)^{n-1} = nG_{n-1}(x), \quad (n \geq 1).$$

Thus, from (1.9), we have

$$(1.10) \quad \int_0^1 G_n(x) dx = \frac{1}{n+1} \int_0^1 \frac{d}{dx} G_{n+1}(x) dx \\ = \frac{1}{n+1} (G_{n+1}(1) - G_{n+1}) = -\frac{2G_{n+1}}{n+1}, \quad (n \in \mathbb{N}).$$

The gamma and beta functions are defined by the following definite integrals ( $\alpha > 0, \beta > 0$ ):

$$(1.11) \quad \Gamma(\alpha) = \int_0^{\infty} e^{-t} t^{\alpha-1} dt,$$

and

$$(1.12) \quad B(\alpha, \beta) = \int_0^1 t^{\alpha-1} (1-t)^{\beta-1} dt \\ = \int_0^{\infty} \frac{t^{\alpha-1}}{(1+t)^{\alpha+\beta}} dt, \quad (\text{see}[10-21]).$$

Thus, by (1.11) and (1.12), we get

$$(1.13) \quad \Gamma(\alpha + 1) = \alpha\Gamma(\alpha), \quad B(\alpha, \beta) = \frac{\Gamma(\alpha)\Gamma(\beta)}{\Gamma(\alpha + \beta)}.$$

In this paper, we derive some identities involving Genocchi polynomials and numbers. These identities follow by evaluating a certain integral in various ways. Also, we express the product of two Genocchi polynomials as a linear combination of Bernoulli polynomials.

## 2. IDENTITIES INVOLVING GENOCCHI POLYNOMIALS AND NUMBERS

From (1.3), we note that

$$(2.1) \quad \int_0^1 y^n G_n(x + y) dy = \sum_{l=0}^n \binom{n}{l} G_{n-l}(x) \int_0^1 y^{n+l} dy \\ = \sum_{l=0}^n \binom{n}{l} \frac{G_{n-l}(x)}{n+l+1}.$$

By (1.8), we get

$$(2.2) \quad \int_0^1 y^n G_n(x + y) dy = (-1)^{n-1} \int_0^1 y^n G_n(1 - (x + y)) dy \\ = (-1)^{n-1} \sum_{l=0}^n G_{n-l}(-x) \binom{n}{l} \int_0^1 y^n (1 - y)^l dy \\ = \sum_{l=0}^n \binom{n}{l} (-1)^l G_{n-l}(1 + x) B(n + 1, l + 1) \\ = \sum_{l=0}^n \binom{n}{l} (-1)^l \frac{G_{n-l}(1 + x)}{n + l + 1} \binom{n + l}{l}^{-1}.$$

Therefore, by (2.1) and (2.2), we obtain the following theorem.

**Theorem 1.** For  $n \geq 1$ , we have

$$\sum_{l=0}^n \frac{\binom{n}{l} G_{n-l}(x)}{n + l + 1} = \sum_{l=0}^n (-1)^l \frac{G_{n-l}(1 + x)}{n + l + 1} \frac{\binom{n}{l}}{\binom{n+l}{l}}.$$

In particular,  $x = 0$ ,

$$\sum_{l=0}^n \frac{\binom{n}{l} G_{n-l}}{n + l + 1} = (-1)^{n-1} \sum_{l=0}^n \frac{G_{n-l}}{n + l + 1} \frac{\binom{n}{l}}{\binom{n+l}{l}}.$$

For  $n \in \mathbb{N}$  with  $n \geq 3$ , from (1.9), we have

$$\begin{aligned}
 (2.3) \quad & \int_0^1 y^n G_n(x+y) dy \\
 &= \frac{G_n(x+1)}{n+1} - \frac{n}{n+1} \int_0^1 y^{n+1} G_{n-1}(x+y) dy \\
 &= \frac{G_n(x+1)}{n+1} - \frac{G_{n-1}(x+1)}{n+1} \frac{n}{n+2} \\
 &\quad + (-1)^2 \frac{n(n-1)}{(n+1)(n+2)} \int_0^1 y^{n+2} G_{n-2}(x+y) dy \\
 &= \frac{G_n(x+1)}{n+1} - \frac{n G_{n-1}(x+1)}{(n+1)(n+2)} + (-1)^2 \frac{n(n-1) G_{n-2}(x+1)}{(n+1)(n+2)(n+3)} \\
 &\quad + \frac{(-1)^3 n(n-1)(n-2)}{(n+1)(n+2)(n+3)} \int_0^1 y^{n+3} G_{n-3}(x+y) dy.
 \end{aligned}$$

Continuing this process, we have

$$\begin{aligned}
 (2.4) \quad & \int_0^1 y^n G_n(x+y) dy \\
 &= \frac{G_n(x+1)}{n+1} + \sum_{l=2}^{n-1} \frac{n(n-1)\cdots(n-l+2)(-1)^{l-1}}{(n+1)(n+2)\cdots(n+l)} G_{n-l+1}(1+x) \\
 &\quad + (-1)^{n-1} \frac{n(n-1)\cdots 2}{(n+1)(n+2)\cdots(2n-1)} \int_0^1 y^{2n-1} G_1(x+y) dy \\
 &= \frac{G_n(x+1)}{n+1} + \sum_{l=2}^{n-1} \frac{n(n-1)\cdots(n-l+2)}{(n+1)(n+2)\cdots(n+l)} (-1)^{l-1} G_{n-l+1}(1+x) \\
 &\quad + (-1)^{n-1} \frac{n!}{(n+1)(n+2)\cdots 2n} \\
 &= \frac{G_n(x+1)}{n+1} + \sum_{l=2}^{n-1} \frac{n(n-1)\cdots(n-l+2)}{(n+1)(n+2)\cdots(n+l)} (-1)^{l-1} G_{n-l+1}(1+x) \\
 &\quad + (-1)^{n-1} \binom{2n}{n}^{-1}.
 \end{aligned}$$

Therefore, by (2.1) and (2.4), we obtain the following theorem.

**Theorem 2.** For  $n \in \mathbb{N}$  with  $n \geq 3$ , we have

$$\begin{aligned}
 & \sum_{l=0}^n \frac{\binom{n}{l} G_{n-l}(x)}{n+l+1} \\
 &= \frac{G_{n+1}(x+1)}{n+1} + \sum_{l=2}^{n-1} \frac{\binom{n}{l} (-1)^{l-1} G_{n-l+1}(1+x)}{\binom{n+l}{l}} \frac{1}{n-l+1} + (-1)^{n-1} \frac{1}{\binom{2n}{n}}.
 \end{aligned}$$

From (1.8), we have  $G_n = (-1)^{n-1} G_n(1)$ . Taking  $x = 0$ , from Theorem 2, we obtain the following corollary.

**Corollary 3.** For  $n \geq 3$ , we have

$$(2.5) \quad \begin{aligned} & (-1)^{n-1} \sum_{l=0}^n \frac{\binom{n}{l} G_{n-l}}{n+l+1} \\ &= \frac{-G_{n+1}}{n+1} + \sum_{l=2}^{n-1} \frac{\binom{n}{l}}{\binom{n+l}{l}} \frac{G_{n-l+1}}{n-l+1} + \frac{1}{\binom{2n}{n}}. \end{aligned}$$

For  $n \in \mathbb{N}$ , we observe that

$$(2.6) \quad \begin{aligned} & \int_0^1 y^n G_n(x+y) dy \\ &= \frac{G_{n+1}(x+1)}{n+1} - \frac{n}{n+1} \int_0^1 y^{n-1} G_{n+1}(x+y) dy \\ &= \frac{G_{n+1}(x+1)}{n+1} - \frac{n}{n+1} \int_0^1 y^{n-1} (-1)^n G_{n+1}(1-(x+y)) dy \\ &= \frac{G_{n+1}(x+1)}{n+1} - \frac{n}{n+1} \sum_{l=0}^{n+1} \binom{n+1}{l} G_{n+1-l}(-x) (-1)^n \int_0^1 y^{n-1} (1-y)^l dy \\ &= \frac{G_{n+1}(x+1)}{n+1} - \frac{n}{n+1} \sum_{l=0}^{n+1} \binom{n+1}{l} G_{n+1-l}(-x) (-1)^n B(n, l+1) \\ &= \frac{G_{n+1}(x+1)}{n+1} - \frac{1}{n+1} \sum_{l=0}^{n+1} \frac{\binom{n+1}{l}}{\binom{n+l}{l}} (-1)^n G_{n+1-l}(-x) \\ &= \frac{G_{n+1}(x+1)}{n+1} - \frac{1}{n+1} \sum_{l=0}^{n+1} \frac{\binom{n+1}{l}}{\binom{n+l}{l}} (-1)^l G_{n+1-l}(1+x). \end{aligned}$$

Therefore, by (2.2) and (2.6), we obtain the following theorem.

**Theorem 4.** For  $n \in \mathbb{N}$ , we have

$$\begin{aligned} \frac{G_{n+1}(x+1)}{n+1} &= \frac{1}{n+1} \sum_{l=0}^{n+1} \frac{\binom{n+1}{l}}{\binom{n+l}{l}} G_{n+1-l}(1+x) (-1)^l \\ &\quad + \sum_{l=0}^n \frac{(-1)^l G_{n-l}(x+1)}{n+l+1} \frac{\binom{n}{l}}{\binom{n+l}{l}}. \end{aligned}$$

In particular, for  $x = 0$ ,

$$\frac{(-1)^n G_{n+1}}{n+1} = \frac{1}{n+1} \sum_{l=0}^{n+1} \frac{\binom{n+1}{l}}{\binom{n+l}{l}} G_{n+1-l} - \sum_{l=0}^n \frac{G_{n-l}}{n+l+1} \frac{\binom{n}{l}}{\binom{n+l}{l}}.$$

Now, we observe that

$$\begin{aligned}
 (2.7) \quad & \int_0^1 G_n(x) G_m(x) dx \\
 &= \sum_{l=0}^n \binom{n}{l} G_l (-1)^{m-1} \sum_{k=0}^m \binom{m}{k} G_k \int_0^1 x^{n-l} (1-x)^{m-k} dx \\
 &= \sum_{l=0}^n \sum_{k=0}^m \binom{n}{l} \binom{m}{k} (-1)^{m-1} G_l G_k B(n-l+1, m-k+1) \\
 &= \sum_{l=0}^n \sum_{k=0}^m \binom{n}{l} \binom{m}{k} (-1)^{m-1} G_l G_k \frac{\Gamma(n-l+1) \Gamma(m-k+1)}{\Gamma(n+m-l-k+2)} \\
 &= \sum_{l=0}^n \sum_{k=0}^m \frac{\binom{n}{l} \binom{m}{k}}{\binom{n+m-l-k}{n-l}} (-1)^{m-1} \frac{G_l G_k}{n+m-l-k+1}.
 \end{aligned}$$

For  $m, n \in \mathbb{N}$  with  $m, n \geq 2$ , we have

$$\begin{aligned}
 (2.8) \quad & \int_0^1 G_m(x) G_n(x) dx = -\frac{m}{n+1} \int_0^1 G_{n+1}(x) G_{m-1}(x) dx \\
 &= (-1)^2 \frac{m(m-1)}{(n+1)(n+2)} \int_0^1 G_{n+2}(x) G_{m-2}(x) dx = \dots \\
 &= (-1)^{m-1} \frac{(m)_{m-1}}{(n+m-1)_{m-1}} \int_0^1 G_{n+m-1}(x) G_1(x) dx \\
 &= -2 \frac{(-1)^{m-1}}{\binom{n+m}{n}} G_{n+m}.
 \end{aligned}$$

Therefore, by (2.7) and (2.8), we obtain the following theorem.

**Theorem 5.** For  $m, n \in \mathbb{N}$  with  $n, m \geq 2$ , we have

$$\begin{aligned}
 G_{n+m} &= -\frac{1}{2} \binom{n+m}{n} \sum_{l=0}^n \sum_{k=0}^m \frac{\binom{n}{l} \binom{m}{k}}{\binom{n+m-l-k}{n-l}} \frac{G_l G_k}{n+m-l-k+1} \\
 &= -\frac{1}{2} \binom{n+m}{n} \sum_{l=0}^n \sum_{k=0}^m \binom{n}{l} \binom{m}{k} \frac{G_{n-l} G_{m-k}}{l+k+1} \frac{1}{\binom{l+k}{k}}.
 \end{aligned}$$

From (1.1), we have

$$\begin{aligned}
 (2.9) \quad & \sum_{m,n=0}^{\infty} \left( G_m(x) \frac{G_{n+1}(x)}{n+1} + \frac{G_{m+1}(x)}{m+1} G_n(x) \right) \frac{t^m s^n}{m! n!} \\
 &= \frac{d}{dx} \left( \frac{4e^{(s+t)x}}{(e^t+1)(e^s+1)} \right) = (s+t) \frac{4}{(e^t+1)(e^s+1)} e^{(s+t)x}
 \end{aligned}$$

$$\begin{aligned}
&= \left( \frac{s+t}{e^{s+t}-1} e^{(s+t)x} \right) \left( 4 - \frac{4}{e^t+1} - \frac{4}{e^s+1} \right) \\
&= \left( \sum_{l=0}^{\infty} B_l(x) \frac{(s+t)^l}{l!} \right) \left( 4 - 2 \sum_{r=0}^{\infty} \frac{G_{r+1} t^r}{r+1 r!} - 2 \sum_{r=0}^{\infty} \frac{G_{r+1} s^r}{r+1 r!} \right) \\
&= \left( \sum_{m,n=0}^{\infty} B_{m+n}(x) \frac{t^m s^n}{m! n!} \right) \left( -2 \sum_{r=0}^{\infty} \frac{G_{2r+2}}{(2r+2)(2r+1)!} (t^{2r+1} + s^{2r+1}) \right) \\
&= \sum_{m,n=0}^{\infty} \left( -2 \sum_{r=0}^{\infty} \frac{G_{2r+2}}{(2r+2)(2r+1)!} \right. \\
&\quad \times \left. \left( B_{m-2r-1+n}(x) \frac{m! t^m s^n}{(m-2r-1)! n! m!} + \frac{n! B_{m+n-2r-1}(x)}{(n-2r-1)! m! n!} s^n t^m \right) \right) \\
&= \sum_{m,n=0}^{\infty} \left( -2 \sum_{r=0}^{\infty} \frac{G_{2r+2}}{2r+2} B_{m-2r-1+n}(x) \left( \binom{m}{2r+1} + \binom{n}{2r+1} \right) \right) \frac{t^m s^n}{m! n!}.
\end{aligned}$$

By comparing the coefficients on the both sides of (2.9), we obtain the following theorem.

**Theorem 6.** For  $m, n \in \mathbb{N}$ , we have

$$\begin{aligned}
&G_m(x) \frac{G_{n+1}(x)}{n+1} + \frac{G_{m+1}(x)}{m+1} G_n(x) \\
&= -2 \sum_{r=0}^{\infty} \frac{G_{2r+2}}{2r+2} B_{m-2r-1+n}(x) \left( \binom{m}{2r+1} + \binom{n}{2r+1} \right).
\end{aligned}$$

Note that

(2.10)

$$\begin{aligned}
\frac{d}{dx} \left( \frac{G_{m+1}(x)}{m+1} \frac{G_{n+1}(x)}{n+1} \right) &= G_m(x) \frac{G_{n+1}(x)}{n+1} + \frac{G_{m+1}(x)}{m+1} G_n(x) \\
&= -2 \sum_{r=0}^{\infty} \frac{G_{2r+2}}{2r+2} B_{m-2r-1+n}(x) \left( \binom{m}{2r+1} + \binom{n}{2r+1} \right).
\end{aligned}$$

Thus, by (2.10), we get

$$\begin{aligned}
(2.11) \quad &\frac{G_{m+1}(x)}{m+1} \frac{G_{n+1}(x)}{n+1} \\
&= -2 \sum_{r=0}^{\infty} \frac{G_{2r+2}}{2r+2} \frac{B_{m+n-2r}(x)}{m+n-2r} \left( \binom{m}{2r+1} + \binom{n}{2r+1} \right) + C,
\end{aligned}$$

where  $C$  is some constant.

By (2.8) and (2.11), we get

$$(2.12) \quad C = \int_0^1 \frac{G_{m+1}(x)}{m+1} \frac{G_{n+1}(x)}{n+1} dx$$

$$\begin{aligned}
&= \frac{2(-1)^{m+1}}{\binom{n+m+2}{n+1}} G_{n+m+2} \\
&\quad \times \frac{1}{(n+1)(m+1)}.
\end{aligned}$$

Therefore, by (2.11) and (2.12), we obtain the following theorem.

**Theorem 7.** For  $m, n \in \mathbb{N}$  with  $m + n \geq 2$ , we have

$$\begin{aligned}
&\frac{G_{m+1}(x)}{m+1} \frac{G_{n+1}(x)}{n+1} \\
&= -2 \sum_{r=0}^{\infty} \frac{G_{2r+2} B_{m+n-2r}(x)}{2r+2} \left( \binom{m}{2r+1} + \binom{n}{2r+1} \right) \\
&\quad + \frac{2(-1)^{m+1} G_{n+m+2}}{(n+m+2)(n+m+1) \binom{n+m}{n}}.
\end{aligned}$$

#### REFERENCES

- [1] T. Agoh, *Convolution identities for Bernoulli and Genocchi polynomials*, Electron. J. Combin. **21** (2014), no. 1, Paper 1.65, 14. MR 3192396
- [2] S. Araci, M. Açıkgöz, H. Jolany, and J. J. Seo, *A unified generating function of the  $q$ -Genocchi polynomials with their interpolation functions*, Proc. Jangjeon Math. Soc. **15** (2012), no. 2, 227–233. MR 2954145
- [3] A. Bayad, *Fourier expansions for Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials*, Math. Comp. **80** (2011), no. 276, 2219–2221. MR 2813356 (2012f:11045)
- [4] A. Bayad and T. Kim, *Identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **20** (2010), no. 2, 247–253. MR 2656975 (2011d:11274)
- [5] A. Bigeni, *Combinatorial study of Dellac configurations and  $q$ -extended normalized median Genocchi numbers*, Electron. J. Combin. **21** (2014), no. 2, Paper 2.32, 27. MR 3210666
- [6] I. N. Cangul, V. Kurt, H. Ozden, and Y. Simsek, *On the higher-order  $w$ - $q$ -Genocchi numbers*, Adv. Stud. Contemp. Math. (Kyungshang) **19** (2009), no. 1, 39–57. MR 2542124 (2011b:05010)
- [7] S. Gaboury and B. Kurt, *Some relations involving Hermite-based Apostol-Genocchi polynomials*, Appl. Math. Sci. (Ruse) **6** (2012), no. 81-84, 4091–4102. MR 2946009
- [8] S. Gaboury, R. Tremblay, and B.-J. Fugère, *Some explicit formulas for certain new classes of Bernoulli, Euler and Genocchi polynomials*, Proc. Jangjeon Math. Soc. **17** (2014), no. 1, 115–123. MR 3184467



- [9] L.-C. Jang, *A study on the distribution of twisted  $q$ -Genocchi polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **18** (2009), no. 2, 181–189. MR 2508981 (2010b:11158)
- [10] H. Jolany, S. Araci, M. Acikgoz, and J.-J. Seo, *A note on the generalized  $q$ -Genocchi measures with weight  $\alpha$* , Bol. Soc. Parana. Mat. (3) **31** (2013), no. 1, 17–27. MR 2990523
- [11] D. Kang, J.-H. Jeong, B. J. Lee, S.-H. Rim, and S. H. Choi, *Some identities of higher order Genocchi polynomials arising from higher order Genocchi basis*, J. Comput. Anal. Appl. **17** (2014), no. 1, 141–146. MR 3183975
- [12] J. Y. Kang and C. S. Ryoo, *On multiple interpolation functions of the  $q$ -Genocchi numbers and polynomials with weight  $\alpha$  and weak weight  $\beta$* , Adv. Stud. Contemp. Math. (Kyungshang) **22** (2012), no. 3, 407–420. MR 2976599
- [13] T. Kim, *On the  $q$ -extension of Euler and Genocchi numbers*, J. Math. Anal. Appl. **326** (2007), no. 2, 1458–1465. MR 2280996 (2008d:11020)
- [14] ———, *Note on  $q$ -Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **17** (2008), no. 1, 9–15. MR 2428533 (2009c:11037)
- [15] ———, *On the multiple  $q$ -Genocchi and Euler numbers*, Russ. J. Math. Phys. **15** (2008), no. 4, 481–486. MR 2470850 (2009m:11026)
- [16] T. Kim, S.-H. Rim, D. V. Dolgy, and S.-H. Lee, *Some identities of Genocchi polynomials arising from Genocchi basis*, J. Inequal. Appl. (2013), 2013:43, 6. MR 3027695
- [17] B. Kurt and Y. Simsek, *On the Hermite based Genocchi polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **23** (2013), no. 1, 13–17. MR 3059314
- [18] H. Maïga, *Identities and congruences for Genocchi numbers*, Advances in non-Archimedean analysis, Contemp. Math., vol. 551, Amer. Math. Soc., Providence, RI, 2011, pp. 207–220. MR 2882398
- [19] K. H. Park and Y.-H. Kim, *On some arithmetical properties of the Genocchi numbers and polynomials*, Adv. Difference Equ. (2008), Art. ID 195049, 14. MR 2491086 (2010c:11031)
- [20] S.-H. Rim, J.-H. Jeong, S.-J. Lee, E.-J. Moon, and J.-H. Jin, *On the symmetric properties for the generalized twisted Genocchi polynomials*, Ars Combin. **105** (2012), 267–272. MR 2976377
- [21] C. S. Ryoo, *Calculating zeros of the twisted Genocchi polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **17** (2008), no. 2, 147–159. MR 2452156 (2009i:11025)

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA

*E-mail address:* dskim@sogang.ac.kr

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

*E-mail address:* tkkim@kw.ac.kr